> A
N & 0l & Av S Z M A
2020 Z 4 5l YBHEH Ol T 04Ol
SH: EQIEMe D
ZE: Co=TAL B
Sl Lo=XAY 29 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 01 3 04 01 3t 193,077,949 187,499,513 5,578,436
2 121,152,764 120,848,759 304,005
o] 296,400 296, 400 0
= 17,539,371 17,408,926 130,445
Al 54,089,414 48,945,428 5, 143,986
CO=XAIL 2el 16,958,995 16,974,262 ~15,267
= 2,047,853 2,034,892 12,961
= 4,345,345 4,343,364 1,981
Al 10,565,797 10,596, 006 230,209
CO=XAE 29 3,438,675 3,442,225 ~3,550
= 1,322,000 1,322,000 0
= 49,544 49,544 0
Al 2,067, 131 2,070,681 £3,550
Lo=sX g4dst & 43,840 47,390 A 3,550
201 YBt2 | 7,040 8,790 A1,750
01 At 22t 7,040 8,790 A1,750
Oger=EH| 6,240 7,990 A 1,750
—2TAE A2 B HAY M
2E 50,0008 *5)H 2 +23] 500 600 A100
—STAE AR AL M
2 3502 %6004 +23] 420 490 ATO
—=XeR MdgA A2E 2
A 85,0008 122 1,020 1,200 A180
— oIS ZEoHY MK 22
A 2,0002 *800% 1,600 3,000 A1,400
202 01t 1,800 3,600 A1,800
01 =01 bl 1,800 3,600 A1,800
OLQI=X Y= 2Helol
2% 100,0002 38 63| 1,800 3,600 A1,800
CO=XAL &5 55,923 30,000 25,923
= 12,961 0 12,961
= 36,481 30,000 6,481
Al 6,481 0 6,481
CORYANLHB(IISEL)IAL 55,923 30,000 25,923
= 2,961 0 12,961
= 36,481 30,000 6,481
Al 6,481 0 6,481
402 912t T 20| & 55,923 30,000 25,923
= 2,961 0 12,961
= 36,481 30,000 6,481
Al 6,481 0 6,481
02 QI2ER 2 AL S (01 & T 2 ) 55,923 30,000 25,923
OSELONSLYR HEAY(IVILE)
25,923,0002! * 14! 25,923 0 25,923
2 12,961 0 12,961
= 6,481 0 6,481




AN ol ZoHel ot
g L STAE 2el
SRl =QEXAL 5 EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
| | Al 6,481 0 6,481
COSTHEANE 2Y 13,151,362 13,186,602 A 35,240
= 625,892 625,892 0
< 4,204,570 4,209,070 A 4,500
Al 8,320,900 8,351,640 A 30,740
dz2g 249 N& 1,331,786 1,332,026 A 240
= 109,127 109, 127 0
< 175,794 175,794 0
Al 1,046,865 1,047,105 A 240
201 ¢er24l 2,160 2,400 A 240
01 Ar22t2l bl 2,160 2,400 A 240
O=u3sd2E sZJ| |A22Hl
2& 2,160,000& 2,160 2,400 A 240
F2Y N4 =5 994,500 1,029,500 /35,000
< 184,350 188,850 A 4,500
Al 810,150 840,650 230,500
401 AIEHI L 2] 994,500 1,029,500 /35,000
< 184,350 188,850 A 4,500
Al 810,150 840,650 230,500
01 A& HI 994,500 1,029,500 /35,000
OLQ0ISAME(EEY S)HE=* 180,000 200,000 20,000
OZ2Y HYZUAALE EXNXA(BHL)
2 & 64,500,000 14! 64,500 79,500 A 15,000
=) 19,350 23,850 A 4,500
Al 45,150 55,650 A 10,500
FAMAE 29 313,035 315,435 A2,400
= 87,000 87,000 0
=) 54,750 54,750 0
Al 171,285 173,685 A 2,400
2EIFESH 29 217,535 219,935 A 2,400
= 87,000 87,000 0
< 26,100 26,100 0
Al 104,435 106,835 A 2,400
201 ¢4l 7,500 9,150 A 1,650
01 AF2 22l 5,880 7,350 A 1,470
Oget=gHl 5,880 7,350 A1,470
—SXA SE RA22ESFY 2,880 3,600 AT20
FAEE xYS aEX SEHMSE S
& &2480,000& x6& 2,880 3,600 AT20
— 90 AL AES1
2 600,000 x138| x5H 3,000 3,750 AT50
02 =224l 1,620 1,800 A 180
02323 % HA 1,620 1,800 A 180
—SXA SotY BE2S(HIIe=s )
Z & 135,000& x12& 1,620 1,800 A 180




SH: ol E Ol Dt
HE: co=XAL 2ol
SHelr MAAE 29 (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
202 01 bl 750 1,500 AT50
01 = LHA YI 750 1,500 AT750
OBAAE HREX 22/0fH|
2 50,0002 *3% *53] 750 1,500 AT50
ol =25 5 106,415,691 106,469,774 A54,083
2 78,686,308 78,686,308 0
p] 296,400 296,400 0
= 5,508,652 5,486,040 22,612
Al 21,924,331 22,001,026 776,695
CSMEOY X8 98,318,256 98,304,463 13,793
2 75,811,900 75,811,900 0
= 4,989,050 4,989,050 0
Al 7,517,306 17,503,513 13,793
colaxiel ¥ ASIESXE S 10,479,508 10,465,715 13,793
= 5,540,902 5,540,902 0
< 1,475,500 1,475,500 0
Al 3,463,106 3,449,313 13,793
101 @121 3,611,354 3,589,911 21,443
2 1,918,143 1,914,318 3,825
= 501,882 500,734 1,148
Al 1,191,329 1,174,859 16,470
03 RIHA2ZR 24 192,413 178,620 13,793
OzolgXtel L ASIESXAAY Heoz ol
201 (2122) 2T 34,716,008 58 173,580 161,580 12,000
= 80,790 80,790 0
= 24,237 24,237 0
Al 68,553 56,553 12,000
OY= &Iyl 2% 1,654,6002 52 8,273 6,480 1,793
04JIAHB2RSES 3,418,941 3,411,291 7,650
OwolXtel L ASIESXRHAY BOIX o1
Bl (B E) 2 3,365,081,0008 *14] 3,365,081 3,357,431 7,650
2 1,805,143 1,801,318 3,825
= 467,982 466,834 1,148
Al 1,091,956 1,089,279 2,677
201 Yot Fh| 145,770 153,420 AT,650
2 72,885 76,710 £3,825
= 21,865 23,013 A1, 148
Al 51,020 53,697 ~2,677
01 At 2relt| 145,770 153,420 AT,650
OwolgXtel L ASIESIRAY S (S
8) 2 145,770,0008 14! 145,770 153,420 AT,650
2 72,885 76,710 £3,825
= 21,865 23,013 A1, 148
Al 51,020 53,607 ~2,677
COI=TMEIA Y BA XD 8,097,435 8,165,311 A67,876
2 2,874,408 2,874,408 0
p] 296,400 296,400 0




2N
X ZH -
L= B

el

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
< 519,602 496,990 22,612
Al 4,407,025 4,497,513 A90,488
COERESE AL 3,019,562 3,087,438 NB7,876
201 LEr2 Y| 57,500 97,500 A 40,000
03 B AL 2 G HI 40,000 80,000 A 40,000
OBHII &l H X 40,000,000 14! 40,000 80,000 A 40,000
307 eI2t0l & 307,062 334,938 N27,876
11 AbBI 2 X A 286,562 314,438 N27,876
Od=zys 39,000, 000! 14! 39,000 72,000 A 33,000

OLQ=g
76,362,000 1Al 76,362 71,238 5,124
SOUHMAMHA 2F X ) 131,084 122,772 8,312
2 64,044 59,886 4,158
(= 37,145 17,966 19,179
Al 29,895 44,920 A 15,025
307 eI2+0l & 131,084 122,772 8,312
2 64,044 59,886 4,158
(= 37,145 17,966 19,179
Al 29,895 44,920 A 15,025
10 AFEI 2 X1 Al 131,084 122,772 8,312
23 0tAL SAX A (QAHl 5H)
128,084,000 *1 Al 128,084 119,772 8,312
= 64,044 59,886 4,158
[= 37,145 17,966 19,179
Al 26,895 41,920 A 15,025
S22 orA 2 M 29H|) 56,299 64,611 A8,312
=2 28,151 32,309 A4,158
(= 13,124 9,691 3,433
Al 15,024 22,611 AT7,587
307 eI2+0l & 56,299 64,611 A8,312
=2 28,151 32,309 4,158
(= 13,124 9,691 3,433
Al 15,024 22,611 NT7,587
10 ABIEXNANLEHES2LHER 56,299 64,611 A8,312
Sz oA |A D12 28I (1HA)

56,299,000 *1IH A 56,299 64,611 A8,312
= 28,151 32,309 N4, 158
[ 13,124 9,691 3,433
Al 15,024 22,611 A7 ,587
Z 21X =8 48,668,058 48,092,227 575,831
2 26,243,883 26,060,170 183,713
(= 6,540,285 6,443,877 96,408
Al 15,883,890 15,588, 180 295,710
ol B35 24,796,851 24,407,234 389,617
2 15,339,496 15,155,783 183,713
(= 2,771,856 2,708,979 62,877
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2A-F3H-H2A(3) - MY - BES Off &4 I Hns2
A 6,685,499 6,542,472 143,027
HOHeI= X AMHIA X 442 515 393,978 48,537
201 LBt 116,715 129,678 A 12,963
01 AL 22l 86,201 95,774 A9,573
Oggt+ gy 15,700 20,049 A4,349
—HOHQARSX =XEX POK ZF 02 0 1,249 A1,249
— ZOHQ AFEE QAINH T A L2t
ZF o2 0 1,500 A1,500
— DN ESXY 2 EE22 MH
2 o2 0 900 A900
—ZofoI=X HEX L
ZE 3,5002 %2008 +118 7,700 8,400 AT00
o2d+y 3,080 7,320 A4,240
—FHAUEXRNAE A} BLLY
BE 70,0008 «20H *13] 1,400 2,800 A1,400
—ZOHQ AL QAIHAHNSE 2AR
ZH 02 0 840 A 840
—ZOHQ AFSIE QAIHA DT 2 A O3HI
2F 02 0 320 A320
— SO FASS AHHA ARF BFHL
=) BE 70,0008 63| x4 1,680 3,360 A1,680
OUXZ(ZRMA AXE XZ)
BE 447,000 #12] 447 600 A 153
ouxz 64,874 65,705 A 831
— S BANSKALE PSS
+42 S ZBE 5,474,000 14| 5,474 6,305 A 831
02 BB 2 30,514 33,904 3,390
O22e= %2 HMA 29,014 29,904 A 890
- 2L
BE (4009 *49521 128 )+(3,2202 x590 2 * 1 25,174 26,064 A 890
2g)
OAl & &HI S Xl 0 1,000 A 1,000
— TOHQIZEX Y DIBERI T2l AIAE A
24 2 02 0 1,000 A 1,000
OA & EHI KX 1,500 3,000 A1,500
—HSEMO B eyl
2= 300,000 «5CH 1,500 3,000 A1,500
202 01| 1,500 3,000 A1,500
01 2044l 1,500 3,000 A1,500
OXOH=X LRFE 220
ZF 100,000 +3H %53] 1,500 3,000 A1,500
405 XtHakE S 71,800 8,800 63,000
01 A& SEH S 71,800 8,800 63,000
SHTAZNISEENZ HBPU (X222
Zg) 63,000,000 *1CH 63,000 0 63,000
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
oI EH XX & 90,391 71,358 19,033
< 16,717 10,007 5,710
Al 74,674 61,351 13,323
307 21201 & 90,391 71,358 19,033
< 15,717 10,007 5,710
Al 74,674 61,351 13,323
11T M SXAISE EX 90,391 71,358 19,033
OW&HMe S22 MHIA ALY
2 & 52,391,000& 14| 52,391 33,358 19,033
S 16,717 10,007 5,710
Al 36,674 23,351 13,323
HdZoel s&t8lE K& 30,000 33,000 23,000
= 7,000 9,100 A2,100
< 1,500 1,950 A450
Al 21,500 21,950 A 450
301 etE2H = 30,000 33,000 23,000
= 7,000 9,100 A2,100
< 1,500 1,950 A 450
Al 21,500 21,950 A 450
01 Al 28X =0dl= 30,000 33,000 3,000
OWAZM S4tHIE X (10€)
Z & 10,000,000 =14 10,000 13,000 23,000
= 7,000 9,100 A2,100
S 1,500 1,950 A450
Al 1,500 1,950 A450
LT FASBSAMHA XJ 567,000 405,000 162,000
= 396,900 283,500 113,400
< 85,060 60,750 24,300
Al 85,060 60,750 24,300
307 glz2tol ™ 567,000 405,000 162,000
= 396,900 283,500 113,400
S 85,050 60,750 24,300
Al 85,050 60,750 24,300
10 A SAAIEHISSHIEX 567,000 405,000 162,000
OgLgze F=2asMHlA XA (35Y)
d & 567,000,000 14 567,000 405,000 162,000
= 396,900 283,500 113,400
S 85,050 60,750 24,300
Al 85,0560 60,750 24,300
2L 2= SSAHHA N 344,827 241,380 103,447
= 241,379 168,966 72,413
< 51,724 36,207 16,517
Al 51,724 36,207 15,517
307 glz2tol & 344,827 241,380 103,447
= 241,379 168,966 72,413
S 51,724 36,207 15,517
Al 51,724 36,207 15,517
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SA-ZH () - HRAY - BES Off &4 JEH Hns2Z
WEE N EEEECTEES 344,827 241,380 103,447
OLLHNQ LUS SEMHIA X (50%)
2N 344,827,000 14! 344,827 241,380 103,447
= 241,379 168,966 72,413
= 51,724 36,207 15,517
Al 51,724 36,207 15,517
AEFON SAH KA 60,000 400 59,600
= 18,000 200 17,800
Al 42,000 200 41,800
301 LBHR S 60,000 400 59,600
= 18,000 200 17,800
Al 42,000 200 41,800
EEE P 60,000 400 59,600
OMNFEZHQ SAH XA
2 60,000,0008 *14! 60,000 400 59,600
= 18,000 200 17,800
Al 42,000 200 41,800
ZOHOl AlE 2Y 17,011,857 16,825,643 186,214
= 6,873,406 6,873,406 0
< 2,361,577 2,328,046 33,531
Al 7,776,874 7,624,191 152,683
0N Q1 KI 4 AL T & Al & X 2 4,911,480 4,877,109 34,371
= 919,942 905,657 14,285
Al 3,991,538 3,971,452 20,086
307 £I20| & 4,911,480 4,877,109 34,371
= 919,942 905,657 14,285
Al 3,991,538 3,971,452 20,086
IEEVEEEETTEES 4,911,480 4,877,109 34,371
OFOHOl FARSAIE 2YHI (ML - HEF
TS, HADYO0IAFAES 4B
2) 27X 819,434,0002! * 14! 819,434 844, 154 A24,720
= 147,498 151,948 £ 4,450
Al 671,936 692,206 ~20,270
O SAME 2HHI(1HA)
23X 318,676,000 14! 318,676 259,585 59,091
= 63,735 45,000 18,735
Al 254,941 214,585 40,356
SETZHARNYMBHE X 341,589 313,489 28,100
= 62,196 62,196 0
= 83,788 75,388 8,400
Al 195,605 175,905 19,700
307 QI2t0I & 341,589 313,489 28,100
= 62,196 62,196 0
= 83,788 75,388 8,400
Al 195,605 175,905 19,700
10 ABIZXALEE 2SS 2 X 341,589 313,489 28,100
ORLENARBMSXAMES S THl =t
At 2 33,100,0002 *14! 33,100 23,000 10,100
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QI ZH O 1 1t
oHel =X &
oHel Ald 29

SA - B EL(EH) - NRAY - BES 0l &t o p/E-T HDE2
= 3,900 5,900 3,000
Al 23,200 16,100 7,100
OSEZNA XYM UEHS S
2% 153,000,000 *14! 153,000 135,000 18,000
= 45,900 40,500 5,400
Al 107, 100 94,500 12,600
ZOHQANATBAIL SYX S 986,073 925,820 60,253
= 177,493 166,647 10,846
Al 808,580 759,173 49,407
307 21240l ™ 986,073 925,820 60,253
= 177,493 166,647 10,846
Al 808,580 759,173 49,407
I EEEETEES 986,073 925,820 60,253
OZOHQ NI BAL 26l (3H2-0E X
A BENHE, ALY ME)
2% 986,073,000 +14! 986,073 925,820 60,253
= 177,493 166,647 10,846
Al 808,560 759,173 49,407
BOHQIOIBAILIISRY 375,722 312,232 63,490
< 100,000 100,000 0
Al 275,722 212,232 63,490
401 AIEHI L 2 TH B 122,232 112,232 10,000
= 90,000 100,000 £10,000
Al 32,232 12,232 20,000
01 Al&HI 122,232 112,232 10,000
O NMZHABSISTAINS JSSA(ME
ol Ae) 23 02 10,000 210,000
= 10,000 £10,000
O BRMWA(T SHSARA) =XE FHyl Il
S22 B 20,000, 0002 *14] 20,000 0 20,000
402 DI X2 0| & 235,000 200,000 35,000
01 SIXHE A E X (REATHR) 35,000 0 35,000
OFYSOIAESALEE ISEY BAH(REA
24 HES) 35,000, 0002 *14] 35,000 0 35,000
405 THAHE S B 18,490 0 18,490
= 10,000 0 10,000
Al 8,490 0 8,490
01 R LS EHSH 18,490 0 18,490
OXGNMZHABSIZEAINS JSSY(ME
Dol RY) 10,000,000 *14! 10,000 0 10,000
< 10,000 0 10,000
OSEAFNASH=I2 ALY FHRY
8,490,000%! * 12! 8,490 0 8,490
2OOIZM BB fa s 15,993,597 15,872,462 121,135
= 14,174,720 14,067,389 107,331
= 1,145,089 1,135,645 9,444
Al 673,788 669,428 4,360




AN el 04t
M [ =MEE2F2 WA s
gel MASE UHEXH (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
HAsEs HEXNE 4,130,085 4,007,900 122,185
= 3,602,904 3,495,573 107,331
S 310,837 301,393 9,444
Al 216,344 210,934 5,410
NEZZ ALY 2,922,812 2,833,192 89,620
= 2,630,531 2,549,873 80,658
< 204,597 198,323 6,274
Al 87,684 84,996 2,688
307 21201 & 2,457,359 2,367,739 89,620
= 2,211,623 2,130,965 80,658
< 172,016 165,742 6,274
Al 73,720 71,032 2,688
11T M SXAISE EX 2,457,359 2,367,739 89,620
OXtgZZ A (=&0]2)
2 & 2,457,359,000& 100 & 2,457,359 2,367,739 89,620
= 2,211,623 2,130,965 80,658
< 172,016 165,742 6,274
Al 73,720 71,032 2,688
Nedd3(HELEIH)XSH 101,752 39,772 61,980
= 91,577 35,795 55,782
< 7,123 2,784 4,339
Al 3,052 1,193 1,859
301 EEH = 101,752 39,772 61,980
= 91,577 35,795 55,782
< 7,123 2,784 4,339
Al 3,052 1,193 1,859
01 Al 28X =062 101,752 39,772 61,980
O3 (HELASZH) (LR 48H
Ol &) 2 & 101,752,000 14! 101,752 39,772 61,980
= 91,577 35,795 55,782
& 7,123 2,784 4,339
Al 3,052 1,193 1,859
NAX2EEH SAA SE=E 8,640 6,480 2,160
< 3,456 2,592 864
Al 5,184 3,888 1,296
307 glz2tol & 8,640 6,480 2,160
< 3,456 2,592 864
Al 5,184 3,888 1,296
10 ALl SXNAIEEE2EHEX 8,640 6,480 2,160
OXNSTEUEH SALL SE=Y
2 & 90,0002 «8H~12& 8,640 6,480 2,160
< 3,456 2,592 864
Al 5,184 3,888 1,296
At 2l At 29 30,729 29,960 769
< 9,219 8,988 231
Al 21,510 20,972 538
307 glztol & 30,729 29,960 769




SM: Lol Ef D
Ha: RO|IZMBEZ| fa
S9l: HASS XEX (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz

= 5.279 8,988 237

Al 21,510 20,972 538

0 ABISTALHY 2SR 30,729 29,960 769

OREAZIA 2 FH 30,729,000 *14] 30,729 29,960 769

= 9,219 8,988 231

Al 21,510 20,972 538

HeEoISSEAMY 41,710 21,066 20,644

2 37,539 8,959 18,580

= 2,920 1,475 1,445

Al 1,251 632 619

307 QI2+0| ™ 41,710 21,066 20,644

2 37,539 8,959 18,580

= 2,920 1,475 1,445

Al 1,251 632 619

NEESNEEES 41,710 21,066 20,644
OUYINSER(HL22EI) AL

2 41,710,000 %14 41,710 21,066 20,644

2 37,539 8,959 18,580

< 2,920 1,475 1,445

Al 1,251 632 619

HUE YIS 118,949 195,319 A76,370

2 107,054 175,787 £68,733

= 8,326 13,672 ~5,346

Al 3,569 5,860 ~2,291

307 QI2+0| ® 118,949 195,319 A76,370

2 107,054 175,787 £68,733

= 8,326 13,672 ~5,346

Al 3,569 5,860 ~2,291

I EEENEEES 118,949 195,319 A76,370

OHUSIYINSET  HH 118,949,0008 *14] 118,949 195,319 A76,370

2 107,054 175,787 £68,733

= 8,326 13,672 ~5,346

Al 3,569 5,860 ~2,291

=JEDSESES 77,498 54,116 23,382

2 69,748 48,704 21,044

= 5,425 3,788 1,637

Al 2,325 1,624 701

307 QI2+0| 77,498 54,116 23,382

2 69,748 48,704 21,044

= 5,425 3,788 1,637

Al 2,325 1,624 701

11 ABI=TAR 2 77,498 54,116 23,382

SETEVEE 2 77,498,0002 *14] 77,498 54,116 23,382

2 69,748 48,704 21,044

= 5,425 3,788 1,637

Al 2,325 1,624 701

=A30f X2 11,782,512 11,783,562 A 1,050




SA: ol E Ol
HH: 2O ZMEBI YA
g2l =H=2W KA (9 ® =)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 10,571,816 10,571,816 0
= 822,252 822,252 0
Al 388,444 389,494 A1,050
=HZ0d 11,747 512 11,748,562 A1,050
2 10,571,816 10,571,816 0
< 822,252 822,252 0
Al 353,444 354,494 A1,050
202 01| 1,050 2,100 A 1,050
01 201 bl 1,050 2,100 A 1,050
ZN20l 2 ALEA ofy]
2H 50,0008 3% +73] 1,050 2,100 A1,050
W2 ES (=0l & ool ) 4,955,309 0 4,955,309
2ENE 4,955,309 0 4,955,309
e E =T 4,955,309 0 4,955,309
802 g+ 2 JI El 4,955,309 0 4,955,309
e 4,250,625 0 4,250,625
020179 SHLQl AISIZHE LS A 2|
E L 7,000 7 0 /
020188 OIS =2 AHIAA 201X B
=) 933,0002 933 0 933
020188 LOISEEBAHIAALY 25 T
o Bt 78,060, 0002 78,060 0 78,060
020188 Ol SZEBAHIAAY 201X &
= 1,225,0002 1,225 0 1,225
02018 & SHEQ ASIZABHS AR 2|
oy 2,274,960 2,275 0 2,275
020188 S0l AISIZHE LS AR 2|
OIXt Bt 91,8202 92 0 92
020184 LOIQUAM =5 oY AY 2D
I3 SN iy 1,050,460,000& 1,050,460 0 1,050,460
020184 LOIQUAM =5 oY AY 20
T3 LMOIT 20,547,720 20,548 0 20,548
020188 Y2AE SEXA 2yl g
1,595,0002 1,595 0 1,595
020188 LRAL 2AXA 24| 0K St
15,0002 15 0 15
020184 ZZSAUISNE 24 IHEH sy
353, 1702 354 0 354
02018 KEAIY 2DEED B o (&8 & o
2 0l X) 348,814,8702 348,815 0 348,815
020199 S0l HOHQl STOHH LA AHIA
A 201X BHY 308 1 0 !
020199 ZRY Wiy o 2ZH| XA
2P EY By 9,813,0002 9,813 0 9,813
020199 LISEHHIA Al 2| DA
=1 21,000& 21 0 21




A el Zoel
H: HRES(C-QAFMA)
¢ EMXE (&)
SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
020198 SAH L HH SS Y AMHIA
AN =HIOIA Bty 1,000& 1 0 1
020198 elgdXiel & MISSI ALY =4I
=1 29,953,000 29,953 0 29,953
020198 elgdXiel & AMSSX2ALE =4I
Ol A+ gHe 2,522,000 2,522 0 2,522
020198 L2 A4 2E XA 34l gte
1,295,000 1,295 0 1,295
020198 22 A4 2L X =H 0lX Bty
9,000& 9 0 9
020198 L QAANE &5 JIsELAE =4l
= 1,202,998,000& 1,202,998 0 1,202,998
020198 Lo RAAE &F JIs22Ag 24l
Ol &t BHet 8,960,000 8,960 0 8,960
O2019¢ JIx¢z X 2023 A
=1 561,975,440 561,976 0 561,976
020198 HHEF A= LHEX R IH ZAE
o Bt 5,600,000 5,600 0 5,600
O2019F Mo HFAIE DIsEY S TH(ZH])
57,042,340 57,043 0 57,043
O2019F M HF AL JIsEZ OlAEE (=8])
1,343,940 1,344 0 1,344
020194 ZoHCl HEZXDI|J| 2H HHTAH
=1 1,666,000 1,666 0 1,666
02019 HOHQIH=AlAH LED WX KX AtS Ol Xt
gt (=2Hl1) 13,060& 14 0 14
OQ2019Z M ANFAIE 2L F#HXH(=2H])
10,841,040& 10,842 0 10,842
O2019F AU QAAIE 2 XA Ol AtEH (Z4])
106,830& 107 0 107
Q019X JTHEALE JIsES2AY FHTH(Z
dl) 2,975,550 2,976 0 2,976
OQ2017ZHOMANFAIE 2L FHXH(=2H])
151,240,850& 151,241 0 151,241
OQ2018ZOMANFAIE 2L FHXH(=2H])
9,260,170 9,261 0 9,261
ON1BHALAANL 2 Xd HHZH ()
7,310,000 7,310 0 7,310
O2017&HMOIHNF=AIE JlsE2 Ol XtBte(=4])
425,620& 426 0 426
020188 SSTHNATNHUEEXHEH K& =
bl Ol AtEHef 26,5403 27 0 27
02019¢ ZoHel 2 =2Hl XIF ALY =Hl A &H
la=1 14,904,400& 14,905 0 14,905
020188 LETHEMHIA HIRH™ XI& =4l &
o Bt 30,449,670 30,450 0 30,450

020188 ZEMWEAMEIA HIRH XY =Hl 0
Aot grg 527,350 528 0 528




M ol Zoiel ot
HH: WRES(=FoHe)
ol BEXE (chel & 9l)
SA- BB (AH) - NRAY - BAS Of 4 o JEL HRZ2
020198 Z i HZ 2H ZHEN gHy
17,590, 370& 17,591 0 17,591
0201949 HoH==L(JI=) 34l TSN bry
12,275,680% 12,276 0 12,276
0201949 Z =< (X&) 2H XM Bt
12,673,000& 12,673 0 12,673
020198 MASHOMQ AN 2ZH X ZA
b X & 2H EHaH Brf 2,328,500 2,329 0 2,329
020194 ZOHI& =X =l O XY ey
3,927,190& 3,928 0 3,928
020194 ZOHE=sXE IHa30 2H ZHE
o Bt 901,000& 901 0 901
020198 ZHOHAESKIE IS0 2Hl Ol K-
=1 5,550& 6 0 6
Q20184 = HOHoIE2#SXA 0IX22 =0 3
L I = 206,011,180& 206,012 0 206,012
020188 & ZHoflgskad 01X=3 =4l Okt
o Bt 744,780& 745 0 745
Q20184 SZF ALY 2 HITH L OlX g
45,346,000 45,346 0 45,346
02013~20178 SEHAMY ZHI&+=H Bty
33,424,000 33,424 0 33,424
020198 =20 2H&H L OlX g
294,862,000 294,862 0 294,862
020198 s E ZH0HQ =EIHEZAELY JHIEH
2 Ol X+ BHef 1,914,000 1,914 0 1,914
020194 ZONAE DI XE LN B
1,284,000 1,284 0 1,284
0201948 &0 dsEFHF SHI| EIAMY
SR Pl = 1,666,000 1,666 0 1,666
02 Al - EHIEXZSEHEZ 704,684 0 704,684
020184 Z3FAUIEXN A TH &N iy
44,1503 45 0 45
020198 HEZMASMHIEXNR TH HEHE
o Bt 1,200,000& 1,200 0 1,200
020194 LL X AMSHEHZ2ZOH (U2
) THl OIXte vryt 2,860& 3 0 3
020198 A ZHOQ SN L FUASEAH X
AN EHl HE Ao Bhy 200,000 200 0 200
020198 ZOHAEASEIN =X EEH 2SS A
SHl Ol A+t BH 10,840& 11 0 1
020198 HAEZOQ SELHMHIAAY ZH &
S RhoH B 6,605,570& 6,606 0 6,606
020188 SSHNWATHYEE:XAEH K& &
Hl Ol Xtete 53,750& 54 0 54
020194 ZOHAAE (A2, 2L, 004) JisEZ
AN EHl HE I Bhy 1,511,700 1,512 0 1,512
020198 ZOH o= Hl XM THl & EHEH
la=1 1,118,180 1,119 0 1,119




2N
X ZH -
L= B

el

LS QIEOH Bt
HRas (ol zol
RSN

e
S|

SN BAGA) - MRAY - BES 0l &t o4 o1 3 o HlDE 2
020193 B0l 221 ARy Z218 =
ALY Tl Ok 82,8802 83 83
020199 ZOIQISHOIH AT SXH XA &
Bl D moisiy 42,8002 443 443
020199 ZOH4+0 DA 2 Tl OIXH8He
1, 1102 2 2
02019 ZOjMBOISHRAME 2 ZH 0
Rhgret 4,170%4 5 5
020198 +0EAME 2 Tl 0Ky
35,5502 36 36
020193 ZOIQIISXFME 2 Sl 0l Xtet
o 19,8902 20 20
02018 CSLEH DRI YH(STA B2
g Jls2Y) 2,486,0002 2,486 2,486
02018 CSEEH DRI YH(HAS 9 ¥
2g L aAe) 2,094,000% 2,094 2,004
020183 LLHENUIA BIRH XY bl &
o it 6,524,930% 6,525 6,525
020188 LLHEMHIA BISH XA Sl O
Rhoy wres 113,0002! 113 113
020193 ZOIINIZ ol FBTY Bt
2,470,010% 2,471 2,471
020198 HOh4+(II%) TH FYEH gy
1,575, 1102 1,576 1,576
020199 HOh=S(RAT) THl FHFY sy
1,619,900%! 1,620 1,620
020198 HASTOHQ A 23l L AA
Bl R SH "I B 1,163,740 1,164 1,164
020199 ZOIQABSTE Sl 0/XY vy
504,9202 505 505
020193 ZOHAESKE HASI0 bl FYT
o it 19,0002 119 119
020199 ZOHAESXE JHASZO bl 0K
ot 7102 1 1
020183 ZHAESXE 0IXNS2 bl ZT
o it 44,554, 7202 44,555 44,555
020183 ZOHAESXY 0IXNS2 SHl Ol Xt
ot 95,7502 9% 9%
020198 ZHHAESXY T N 4l T
SR uret 78,556,670 78,557 78,557
020198 ZHAESXE T =IHNY Sl 0
Rhoy gres 482,2102! 483 483
020198 LLMEHHIA SHUAY Tl &
RO ure 4,965, 7302 4,966 4,966
020198 LLWEHHIA SHUA bl O
Rhoy gred 137,050%! 138 138
O2019H MU HFAIL IS AMTH(TH|)
28,521, 1702 28,522 28,502




HL =+
™40 e
> e 0

W o 2
H
re
03
2
re
3]

- () - MRAE - BES Off &k 24 Husz
O2019Z NI HEA S JIS2Z OIKer= (=0l
671,940%! 672 672
02019 HOHLNFAIL LED RHX Y AS O
BHH (& Hl) 6,530 7 7
O2019BHAHFA L SAXY T %(ZH|)
1,394, 180! 1,395 1,395
O019B U LAAE SYXE O Xete (S HI)
45,7802 46 46
O2019% IS SSHE SHXH & #T oA (
&) 5,556,430% 5,657 5,557
O2019% OIS 2 SHE 2SS O KrE(
=Hl) 53,6002 54 54
02019 MEAE LHLAH BT ()
288, 0002 288 288
02019 MEAIE 2L AH O Kot (1)
5,980 6 6
02019 HOHLUNFAIL SAT ZINFHSZ F
z o (ZHl) 4,000,000% 4,000 4,000
02019 HOHLUNFAIL AKX ZINZHS 0%
g (=) 20,260 21 21
02019 RO I=X2 SN YT U(ZH|)
478,140% 479 479
02019 HOH =X 2 SYNS 0/ Kere(=Hl)
462, 1602 463 463
02019 HOHFALSAIL SYXH HYT A (
=) 8,279,600% 8,280 8,280
02019 HOJFALSAIE SYXH Ol XeHe(
=) 81,3202 82 82
02019 HOHLI0IBAIE SAK SE4Y ZuT
o (S Hl) 2,096,770% 2,097 2,007
02019 HOHLI0IBAIE SAK SE4Y 0l Ker
(S HI) 16,2502 17 17
02019 HOULIANFAL S SAK SE+g &
B (S H|) 9,710,910% 9.711 9,711
02019 HOULIANFAL S SAK SEHY 0l
X e () 97,5702 %8 %8
02019 ZHAHANEAIL SHXR T T oA (
=) 507,670 508 508
02019 ZHAHAEAIL SHXR 0T 8HE (
=) 158, 1302 159 159
02019 ZOHQBSMEIY YK Ol Keheh(
=) 26,6602 27 27
02019 HOHLI=X 2 SAH X O Xete(E
Hl) 136, 1002 137 137
ONI9HSHEAL I SEAAY FHIU(E
Hl) 1,487,780 1,488 1,488
ONI7ZHAHFAL SSXE U %(ZH|)
19,444,940 19,445 19,445




M ol Zoiel ot

HH: WRES(=FoHe)

ol BEXE (chel & 9l)
SA- BB (AH) - NRAY - BAS Of 4 o JEL HRZ2

O2018Z N FAIE 2EXY FHTH(ZH|)

52,730%! 1,353 0 1,353
ONBHURAAL SYXE JHTA(SH|)
939, 5002 940 0 940
O01T7TZHANTAL IS OIXEHE ()
209, 6402 210 0 210
02018 =QQUAL =5 018 MY H &
BT ok By 131,307,0002 131,307 0 131,307
02018 =QIQUAL =5 018 MY ZH 0
T oere 2,568,5802 2,569 0 2,569
020198 22Y Hwtl ¥ I XA
SHHT Y By 9.813,000% 9.813 0 9,813
020198 CSSHUIAAMY SHR BT
ot 3.000% 3 0 3
020198 SHL-OIZ 0Ol STOHE QA AHI A A
o THl OIX HrE 1,000%! i 0 1
020198 COISHSEA KAAY SHIEHE
o prg 9,000% 9 0 9
020198 S0 FOHQ SZOHHOHAAHIA
SHIOI BHe 102! 1 0 1
020198 22Y HYDLHAL 23 XA
SHIBT Y By 2,099,000% 2,009 0 2,009
O2019% F2Y 2YH NBAY CHIHT Y
Bt 804,0002 804 0 804
020183 ESSBEAUIAANY THl HHE
o gt 6,724,000% 6,724 0 16,724
02018% LOISEES MU AANY TH OIX B
et 1990002 199 0 199
02019 10TE#E S0l 202 o4& LA
A ZH EX3 IIY v 90,0002 9 0 90
0019 B2Y BSHYN SFAY =t 0
T oere 3.210% 4 0 4
02019 AlZ =015 485 NAMY ZH 0
Toere 17,5202 18 0 18
O19d B2 =aIT2I8 ATBAT A
AR ZHI OIXF g 2,860% 3 0 3
020198 LolgXtal & ASESTHAY S|
Bt 8.986.,0002 8,986 0 8,986
020198 LolgXtal & ASEBSTHEAY S|
OIX Bt 7570002 757 0 757
020188 YEAL SHXE THl B
206,0002 206 0 206
02018 YEAIE SYNE SH 0IX By
2,000 2 0 2
020198 YEAE SN TH B
66,0002 166 0 166
02019 Y2AE SYXE SH 0K By

2,000& 2 0 2
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